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(i1)) What is Spherical Aberration ?
Note .— The question paper is divided into three Sections

A, B and C. Write answers as per the given et fouem == & & ?
instructions. (iii) What is diff b divisi ;
- iii at is difference between division of wave
e - I yeA-w ‘et ‘9 SR ‘W i wmel § fawifsa ©
YIF WIS & IR ¥+ & IW SIS | front and division of amplitude ?
Section—-A 7x1=7
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(Very Short Answer Type Questions) p

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one (iv) Define Wedge-Shaped Film.
sentence or maximum up to 30 words. Each
question carries 1 mark.
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(v) What are Half Period Zones ?
G STl hiesy o1 B & ?

(vi) Give Rayleigh’s Criterion of Resolution.

T I fa¥eT wt HER w1 Scoe HIfST |

(vit) What do you mean by Optical Pumping ?
THRRIT T W ST F R § 2
Section-B 4x3%,=14
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should
not exceed 200 words. Each question carries
3% marks.
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. Explain the refraction from a thin lens by ray

diagram and obtain expression for its focal length.

T @9 9 fueaad &l foRwor fod g gwssw qen
TIHE g & fau e T wifs

. Prove that the Shape of interference fringes is a

hyperbola.

fag =ifsu for =afaewto frsi 1 TR & Afqweaas
B ¥

. Describe the principle and working of Michelson’s

Interferometer.

Hisehows SATTRIOMETI &1 Fagra dem swrEavonett s 9o
R |

. Describe the diffraction pattern of a straight core.

How this pattern differ from that of a straight
wire ?
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. Derive an expression for resolving power of a

prism.

& foom #1 fades sma & =S *i Fat st

. Explain the principle and working of bi-quartz

polarimeter.

TE-FACS YAt & fag 9 wEAYOTE w1 FoH
RIS |
. Describe the construction, principle and working

of a four level laser.

TH 9R &R AR &t s@e, fagra R wrfafy
HHART

. Describe the basic concept of holography.
ATHR % g fagr wt S wie |

Section—-C 2x7=14

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 7 marks.
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10. Two thin convex lenses of focal length 30 cm and

11.

PH-06/7 (6)

10 cm are placed coaxially at a distance of 25 cm
in air. Calculate the position of the cardinal points

for the combination.

30 ¥ 3 10 9. wRd O & I qao IqA o gl
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The diameter of 4th and 12th dark fringes in
Newton’s rings experiment are 0.4 cm and 0.7 cm
respectively. Estimate the diameter of 20th dark

fringes.
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12. Calculate the thickness of quarter and half-wave
plates for & = 6000 A, pug = 1.54 and p, = 1.55.
HifSE, A 4 = 6000 A, ug = 1.54 3R py = 1.55
=l

13. At which temperature rate of spontaneous and
stimulated radiation will be equal for wavelength
A = 5000 A?
T A = 5000 A & fou R aw w Ifa T
SCESA HT T T B © 2
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